
ma ∈ [1, 3.5]GeV ma ∈ [5, 15]GeV ma ∈ [20, 62.5]GeV

Type-1
B(a→ µ+µ−) 4.6× 10−3 – 4.0× 10−2 2.1× 10−4 – 1.8× 10−3 2.0× 10−4 – 2.2× 10−4

B(a→ τ+τ−) 0 5.7× 10−2 – 3.6× 10−1 5.5× 10−2 – 6.3× 10−2

B(a→ bb) 0 — 8.3× 10−1 – 8.8× 10−1

Type-2
tan β = 2

B(a→ µ+µ−) 2.5× 10−2 – 3.8× 10−2 2.2× 10−4 – 4.0× 10−3 2.1× 10−4 – 2.5× 10−4

B(a→ τ+τ−) 0 6.0× 10−2 – 7.9× 10−1 5.8× 10−2 – 7.0× 10−2

B(a→ bb) 0 — 9.2× 10−1 – 9.3× 10−1

Type-3
tan β = 5

B(a→ µ+µ−) 7.4× 10−1 – 9.6× 10−1 3.5× 10−3 – 5.0× 10−3 3.4× 10−3 – 3.5× 10−3

B(a→ τ+τ−) 0 9.1× 10−1 – 9.9× 10−1 9.7× 10−1

B(a→ bb) 0 — 2.0× 10−2 – 2.5× 10−2

Type-4
tan β = 0.5

B(a→ µ+µ−) 4.5× 10−3 – 1.4× 10−1 1.2× 10−3 – 1.8× 10−3 1.1× 10−3 – 1.2× 10−3

B(a→ τ+τ−) 0 3.2× 10−1 – 3.5× 10−1 3.0× 10−1 – 3.3× 10−1

B(a→ bb) 0 — 2.5× 10−1 – 3.2× 10−1


